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, COMMERCE '
Quantltatlve Analysns for Busmess Demsnons—l
(CBCS Scheme Regular and Repeaters 2018-19 only)
' Paper 2.6 R

' Time: 3\Hours‘ T ST N Maxim}um Marks 570"

Instructions to Candidates:

Answers should be Wntten completel y elther in Enghsh or in Kannada

SECTION-A
;Jz;aﬁ o
. -Answer any 5 Sub- questlons ‘Each sub-questlon carries 2 Marks R (5><2 10). L
8 NI o:b‘oa@mddfa 5 0 -333" n’e?ﬁ emé@ﬁo we mw—a‘a’éﬁ 2 @oﬁﬁejo ‘
1. a) State any 2 functions of statlstlcs : ‘ '
BosmZeRT o&m@md@ saofngﬁ@?ab 3@%
‘b) " Distinguish between Prlmary @Z& Secondary data , i
S Go0sg, e Haeod csaaoz!g/o@m SR,
| ¢) State any 2 measures of Central tendency '9 }/ ,
I T, éoﬁo SRTIT o&a@mdd& 2 &)dﬁ@ém é@?,\)
'.®'~Hzesszmmme40fmdx -
o &)%Dﬁ)é NUGNB 38.82, &’bdﬁd e33= 40 @mﬁ NCTONG 23@303)53 @@?N
e) Q is 20, Q is 45, what is its co-efﬁc1ent of quartlle dev1at10n -
- Q=20,QF 45 eﬁdé’ Slate) @-mmwm 50553 ao@oibb
B What is meant by Skewness‘? o A
S 8.8 03N 0BT - Ty
‘What isan Indéx Ntlmber? | |
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SECTION B
-Answerany. 3. questxons ‘Each questlen carries-6 Marks.  (3x6=18)

3N owmeTide. st FROR wv3dR. W2 T 6 osrivd.

2. Construct the. consumer; price. mdex number using family budget method: :
230 5323 N.@zsaoﬁmﬁa %e‘?ﬂzd csgaoéé &mow Relelantay @mzﬁd@ BOTD &:@o&a@

. Ttems: /A B C D ':E F
Units: . 50 ,-:540 15 5 4 2
ORI, 4 | SRR .
‘Price:in 2015 (Rs.): 20 15 35 15 10 450 - L
2363 72015 (Tw). S I N .
R ~ Price in2018 (Rs) 30 20 50 25 20 600
: 2363 2018 - (m) R

3. ) :iFde 1f01) 40%,S’D—12

b) 1T C11 K Al \Ge %
' *‘Uam ;zitﬁaﬁa&%:l‘z ,rmyof,q 5. 0 @338 Nm,@ &)230’03053 '*‘amz@%ﬁa’m

. s
4. Calculate Mode/nom the: followmg dates Qq@ .

‘ Wages'(Rs)) 2025 2530 . 3035 354 40-45 . 45-50
No.ofworkers = 1 -3 8 12 7. 5
BENT ©0F WOBNLOL TOWETT aoaa’aabé Roo%0 ara@ofoaia 50&53 &ROND.
BRO (Bw) - 2025 25330 3035  35-40 40 45 45-50
Bommog Wy 1 3. 8 12 7T 5

5. ‘Ina sample study abeut the f(md hab1ts ina town, the followmg was observed

 50% persons were males. \ - ,

30% werennn-vzgetanans b
'18% weremale non-vegetarians. -

- Tabulate the above observations. ' B
12.0T0 ‘BEIRTY -JBA ESESJJBND draewﬁoda BFes ée Fgs03- e—noaﬁﬁ% %ocsauodag.
50% wbdaw& o .

30% =Pomo TIOND
18% Htm @Q*‘o m@ﬁ% ﬁoe@ﬁ @oﬁﬁ% wweidsa =PA.
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6. "Whlch Cmmpany has greater vanablhty of salary"

‘CompanyX  Company’Y

| ?1; No ofemplcyecs . 250 - 200
2 “Standard deviation . 500 600
3. Average monthly: salary(Rs ) 20,000 25,000 .

JRever Ty msas-ﬁosa Noaoe;csea Sy zédaé%oda Namaé %ocsa mdazcs,

1. TFTS RO, 250 200
. JOFF HGDE 500 600
3. RooRD gon¥ R ou@é;(dra.) 20,000 25,000
SECTION-C |
. Answer any.3 questions. TBach questmn carries ‘14 marks. Lo (3x14=42) ~

s -&ems ojsa@waﬁdra 3 T ﬁ@ﬁ SOZ0R. TS géﬁ 14 eﬁoﬁmfa

- Construct fisher’s. ideal mdex/nam the: followmg & show how 1t satlsﬁes TRT & FRT:
- (Time Reversal. Test) & (Factor Reversal Test)
B3 B3NS Ty KOO - PBTR
'?FRT;w@'eﬁﬁﬁééz& BRARPVA 6

.659 ,o.raasao%m BOTD &@oﬁab @zﬁo aa”eﬁ TRT 53333

R, TR0 . ’
Commodity 20 1,6 ,
S ~ Price ?iQuantity
A 30 20 25 2
B ‘19 © 20 26 25
C 24 22 24 26
D S22 27 3527
E 200 200 530 25

The following: data: relate to monthly expend;ture of 2. famﬂles X & Y

' Ttems A B C D E

FamilyX 160 80 60 20 R0

- (expenditure)

FamilyY 100 30 40 -’10 20 .
(expenditure)

- Repfesgnt the data by-a: sultabic daaegram
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Y $9nS o B0k0 X ) ¥ aow 2 sauaome; gons DBFR Nowocs egd:gd;
n,man*e;a”"- o A B c ‘D E '
X 260203 Do 160 80 60 20 80
| Yaewows @ie 100030 40 10 .20

- a’m@a’)dm nuaémd 56033@ édaeafo (Dlagram)

9. From the following compute co-efficient of Skewness:
| Salary (Rs.)  10-20  20-30 . 30-40  40-50 50-60-
. No.ofworkers 3 - 5 9 15 6
' jéeéﬂsi DTBNLOT DRI ROER0BRRY, 60?5380@0006 -
Jowe (Bw.)  10- 20 20-30 30 40 . 40- 50 - 50-60 -
3edn¢ ok~ 3 5 9 15 .6

10. Calculate standard deviation

A ‘ y fOIlbwiﬁg data
Wages (Rs.) 10 20 ] '

Cl . 50 60
No. of workers 8 o 10 . 3
39NS 008 ©03RLOT ?0635-"% zédadoéaé @ ao@of)aa
%00 (@R) 10 - 60
%C)Nﬂadd 033 8 = 12 S 20 Sl 7 3
- 11. Catculate Mean & Median/nom the following data: - T o
X T 0-10 - 10- 20 - 20-30 30-50  °50-70 70-100
Y: - . 5. 10 17 40 .62 60
.00 imwdoﬁ 55330571@053 plonyte 63333 Eﬁ)dﬁﬁ%‘&b 603&80@0&)6
X 0= 10 10-20 - -20- 30 30 50 - 50-70  70- 100

¥ 5 10 17 40 62 60




